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LIFE SCIENCE 

LSE-06 : DEVELOPMENTAL BIOLOGY 

Time : 2 hours 	 Maximum Marks : 50 

Note : Answer Part I and Part II in separate answer 
copies. Answer the questions as per instructions 
given in each part. Draw well-labelled diagrams, 
wherever necessary. 

PART I 

(Plant Development) 

Note : Question no. 1 is compulsory. Attempt any four 

questions from questions no. 2 to 7. 

1. (a) Choose the correct options from the words 
given in brackets. 	 2 

(i) The pollen grains of a pollen sac are 

united in a single compact mass in the 
members of (Asclepiadaceae/ 

Podostemaceae). 
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(ii) Dark coloured and light coloured rings 

are found in the roots of 

(Beta vulgaris I Salvadora). 

(iii) (Gibberellins/Auxins) promote flowering 

and shoot elongation in plants. 

(iv) In angiosperms root apices are 

protected by multilayered (parenchyma/ 

sclerenchyma) coverings called root 

caps. 

(b) Fill in the blanks : 	 2 

(i) The wall of central cell of embryo sac is 

thickest in the region against the 

nucellus and it thins out towards the 

	 end of the egg apparatus. 

(ii) Fusion of dissimilar protoplasts results 

in the formation of 

(iii) The pericarp and seed coat are fused 

together in 	 type of fruit. 

(iv) In sporophytic self-incompatible plants 

the recognition proteins are present in 

the 	  

LSE-06 	 2 



(c) Write technical terms for the following 
statements : 

(i) The type of pollination for which 
flowers have a peculiar strong odour 
and are borne singly or in clusters 
away from the branches and foliage. 

(ii) In vitro clonal propagation of plants. 

2. Describe the various types of seed appendages. 
Point out how they help in dispersal or 
germination. 	 5 

3. Enlist various cambial variants in angiosperm 
stem. Detail any two of them giving examples. 	2+3 

4. Write short notes on any two of the 

following : 	 2x2 — =5 	• 
2 

(a) Hormonal relationship between endosperm 
and embryo 

(b) Hypostase : its location, site of origin, 
characteristic cellular features and functions 

(c) Androgenic plants 

(d) Uses of supernumerary embryos 
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5. (a) Describe any two applications of apical 

dominance in horticulture and agriculture. 	2 

(b) Make a clear and labelled diagram of an 

organised embryo sac. 	 3 

6. Write five physiological effects of a naturally 

occurring plant growth regulator. 	 5 

7. (a) Define Geotropism. Mention the names and 

describe the role of plant growth regulators 

associated with geotropism. 	 1+2 

(b) What is Phyllotaxy ? How would you find 

the phyllotaxy number of a plant ? 	1+1 
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PART II 

(Animal Development) 

Note : Question no. 8 is - compulsory. Attempt any 
four questions from questions no. 9 to 14. 

8. (a) Fill in the blanks • 	 6x  
2 

(i) The 	process 	of 	intracellular 
differentiation of a spermatid into a 
spermatozoa is known as 	 

(ii) The directed movement of cells in 
response to a concentration gradient of a 
chemical factor in a solution is called 

(iii) The fertilized egg (zygote) has the 
capacity to give rise to all kinds of cell 
types. Such a cell is said to be 

(iv) Follicles with fluid filled spaces are 
called 	follicles. 

(v) Fertilization in humans takes place in the 

(vi) Archenteron is formed as a result of the 
involution of 	.  cells. 

(b) Distinguish between the following : 	2x1=2 

(i) Microlecithal and Alecithal, eggs 
(ii) Reparative regeneration and 

Compensatory hypertrophy 
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14. Write short notes on any two of the 
following : 	 2 x 2 —1 =5  

2 

(a) Process of Regeneration in Hydra 

(b) Consequences of Aging 

(c) Hormonal Control of Insect Metamorphosis 

(d) Neurulation in Amphibians 

9. (a) Explain the mechanism of slow block to 
polyspermy. 	 3 

(b) Discuss the role of microtubules and 
microfilaments in cell movement. 	 2 

10. Define cell determination and discuss the two 
major ways by which it takes place. 	 5 

11. (a) Discuss the role of cell death in control of 
pattern formation in a limb. 	 3 

(b) Differentiate between allometric and 
isometric growth. 	 2 

12. Discuss the mechanisms of carcinogenesis. 	5 

13. (a) What are the functions of the placenta ? 	2 

(b) - Discuss the different patterns of cleavage. 	3 
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